JL_

Addierenim Zahlenraum bis5 Name:
L 6se jede Aufgabe. Antworten
1) 4 + 1 2 2 + 2 =
— — 1.
2.
3 2 + 3 H 3 + 2 = 3
4.
5.
5 1 + 4 ) 5 + 0 =
— — 6.
7.
7) 1 + 3 8) 3 + 1 = 8.
9.
10.
9 5 . 3 100 5 . 5 =
— — 11.
12.
1) 5 - 4 12) 4 - 4 = 13,
14.
15.
13 2 . 1 4) 4 - 2 =
— — 16.
15 3 - 1 1 4 - 3 =
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Addieren im Zahlenraum bis 5 Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
D 4 + 1 =5 2 2 + 2 =4
— — 1 o)
2 4
3 2 + 3 =5 9y 3 + 2 =5 8 S
4. S
5, 5
5 1 + 4 =5 5 + 0 =5
— — 6. o)
7 4
N 1 + 3 =4 8 3 + 1 = 4 8. 4
9. 2
10. 0
9 5 - 3 =2 10 5 - 5 0
— — 11. 1
12 0
1) 5 - 4 = 1 12) 4 - 4 0 13, 1
14. 2
15. 2
3y 2 -1 =1 14) 4 - 2 2
— — 16. 1
15 3 - 1 = 2 16 4 - 3 1
1-10 |94]88|81|75] 69| 63|56 50|44 | 38|
[ Mathe ] www.CommonCoreSheets.de 10 11-16(31|25]19]13| 6 ] 0




JL_

ommonCoreSheets.de

Addieren im Zahlenraum bis 5 Name:
L 6se jede Aufgabe. Antworten
1) 4 + 1 = 2) 2 + 2
00 o 00 0O 1
00
2.
3 2 + 3 = H 3 + 2 3
e oo 00 0O
) o 4.
5.
5 1 + 4 = 6 5 + 0
0 00 00 6.
00 00
O 7.
N1 + 3 = 8 3 + 1 8.
0 00 00 o
O O 9.
10.
9 5 - 3 = 10) 5 . 5
00 0O 00 0O 11.
00 ) 00 00
@) O O 12.
1) 5 - 4 = 12) 4 - 4 13
00 0O 00 00
00 0O 00 00 14.
o
15.
13 2 - 1 = 14 4 - 2
00 0 00 00 16.
00
% 3 - 1 = 16) 4 - 3
00 o 00 0O
) 00 o
Geandert 1-10 [ 948881 |75|69]|63]56]50] 44 38|
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